EMHEERESHBESRAE
- Changzhou Hanyun Hydraulic components MFG. Co. Ltd.
H

SAE J518 CAPTIVE FLANGE

K
A CD61(3000PSH) : '
SAE METRIC
FLANGE

PART NO. SI7E A B C D E F G H J
K HHCS K | HHCS
HY53-61-8-8 /e 4597 153.85(17.48 | 38.10 [19.05 [12.70 |30.96 |24.26| 6.22 |8.74 |[5/16-18x1.25| 8,75 | M8x2S
HYS3-61-12-12 274 |sp32 lepop |2R23 4763|2235 (1422 3889|3213 | 6.22 |10.31 |3/8-16x125 |10.75 | M10x30
HYS3~61-16-16 1 58.67 169.85 | 2619 | 52.38(23.88 [15.75 |45.24 | 3848 7.49 |10.31 |3/8-16x125 [10.75 | M10x30

HYS3-61-20-20 | 1 1/4 [7315 |79.25|30.18 |58.73(22.35 |14.22 |51.59 |43.69| 7.49 |11.91 |7/16-14x150| 12.0 | M10x30
HYS3-61-24-24 | 1 1/2 [8255 |93.73 (3571 |69.85 (2540 [15.75 |6111 |50.80 | 7.49 [13.49 |/2-13x1.50 | 13,5 | M12x35

HYS3-61-32-32 2 96.77 |101.60 |42.88 | 77.78|26.16 |15.75 |72.24 [62.74| 9.02 |13.49 |1/2-13x150 | 13.5 | MI2x35

HY53-61-40-40 2 1/2 108,71 |114.30 |S0.80 |88.90 |38.10 [19.05 [84.94 | 74,93 | 9.02 |13.49 |1/2-13x175 | 13.5 | M12x40
HYS3-61-48-48 3 131.06 |134.87|61.93 |106.38|41.15 |22.35 [102.39|90.93 | 9.02 |16.66 |5/8-11x17S 17.0 | M16x50
HYS3-61-56-56 3 1/2 |139.701152.40(69.85 {120.65|28.45 |22.35 |115.09 |102.36 10.72 |16.66 |5/8-11x2.00 | 17.0 | M16x50

HYS53-61~64-64 4 152.40 {162.05 77.78 130,18 |35.05 |25.40 {127.79|115.06| 10.72 |16.66 |5/8-11x200 | 17.0 | M16x55
| , CD62(6000PSI) ,
_, SAE ME TRIC
PART NO. | Soe A | B | C|D | E | F |G | H|UJ

K | HHCS K |HHCS

HYS4-62-8-8 e 4724 156,39 |18.24 | 4049 (2235 |15.79 [32.54 |24.64 | 7.24 |874 |5/16-18x1.e5| 8,75 | M8x30
3/8-16x1.50 | 10,75 | MIOx35

HYS4-62-12-12 374 6045 | 7137 |23.83 |50.80 |28.45 1905 |42.06 | 3251 | 826 |10.31

22-16-16 1 69.85 {8103 [27.79 5715 [33.27 [23.88 {4841 | 3886 9.02 |11.91 [7/16-14x1.75] 13 Mi2x45

L 174 19772 19505 131,75 (6668|3810 (2692 {54.76 [ 44.45 | 9.78 |13.49 |1/2-13x175 | 1475 | M14%45

I 172 19525 111278 {3653 | 79.38 142,93 [30.23 {64.29 {3156 | 1207 | 1666 |5/8-1Ix225 ) 17 M1EXSS
e 114.30 1133.35] 44.45 196 80 £7.56 | 12.07 |19.84 [3/4-10x275| 21 M20x70

86-0519-88386628




P T R 'ﬁ‘ﬁi‘"ﬁi%ﬁjfﬁﬁ KE@% &)

Changzhou Hanyun Hydraulic components MFG. Co Ltd

J518 SPLIT FLANGE  STAINLESS STEEL (316L)
CD61(3000PSH)

PART NI Fé?ZNEGE A B cCl Dl F | F G H AL METRIC O-RING
J HHCS J |HHCS
HYSS-61-8-8 1/e 21.84 153.85 |38.10 |19.05 |12.70 |30.96 |24.26 |6.22 8.74 PB/16-18x1.29 8.75 | M8x25 | G5
HYSS-61-12-12 | 3,4 | 2489|6502 |47.63 |22.35 | 14.22 |38.89 |3213 |6.22 |10.31 [/8-16x125[10.75 | M10x30 | G30
HYSS-61-16-16 1 | 2819 [69.85 |52.38 | 23.88 | 15.75 |45.24 | 38.48 | 7.49 |10.31 B/8-16x1.25 | 10.75 | MLOx30 | G35

HY55-61-20-20 1174 13531 (79.25 |58.73 | 22.35 | 14.22 |51.59 |43.69|7.49 |11.91 [7/16-14x1.50| 12.0 | M10x30 | G40

HYS55-61-24-24 1 1/2 | 4013 [93.73 {69.85|25.40 [15.75 {6111 [50.80 |7.49 [13.49 [l/2-13x150 | 13,5 | M12x35 | GS0

HY55-61-32-32 2 4724110160 |77.78 | 26.16 |15.75 |72.74 {62.74 | 9.02 |13.49 [l/2-13x1.50 | 13.5 | M12x35 | G65

HYS55-61-40-40 2 1/2 |53.09 |114.30 |88.90 | 38.10 |19.05 |84.94 [74.93 9,02 [13.49 {lr2-13x1.75 | 13.5 | M1ex40 | G75
HYS55-61-48-48 3 64.26 |134.87{106.38| 4115 | 23.35(102.39/90.93 | 9.02 |16.66 [5/8-11x1.75 | 17.0 | M16x50 | G8S
HYS55-61-56-56 3 1/2 |6858(152.40(120.65|28.45 | 23,35 [115.09 1102.36]10.72 |16.66 [5/8-11x2.00 | 17.0 | M16XS0 | G100

HYS5-61-64-64 4 74.93 [162.05(130.18 | 35.05 | 25.40 |127.79]115.06 [ 10.72 |16.66 [5/8-11x2.00 | 17.0 | M16x55 | G115
A AL . T U it
parT No. TSPl Al B c| D EF |G| H oAt EIRIE e
J HHCS J HHCS
HYS6-62-8-8 172 22.61 |56.39 [4049 2235|1575 | 3254|2464 7.4 874 [5/16-18x1.25 8.75 | M8x30 | G2S
HYS6-62-12-12 3/ 4 P8.96 [71.37 1950.80 |28.45 |19.05 | 42.06 | 32.51 | 8.26 |10.31 3/8-16x1.50 [10.75 MleéS G30
HYS6-62-16-16 1 33.78 (81,03 [|57.15 |33.27 |23.88| 48,41 | 38.86|9.02 |11.91 [7/16-14x1.75 13 M1ex45 | G35
HYS6-62-20-20 1174137599525 |66.68[38.10 |26.92 | 54.76]| 44.45]9.78 |13.49 [/2-13x1.75 | 14.75 | M14x45 | G40
HYS6-62-24-24 | 1 1/72 1464811278 79.38|42.93 | 30.23 | 64.29| 51.56 | 12.07 |16.66 [5/8-11x225| 17 MIEXSS | G50
HYS6-62-32-32 2 55.88 [133.35|96.83|52.32 | 36.58 | 80.16 | 67.56]12.07 [19.84 [3/4-10x2.75| 21 | M20x70| G65

ik STHEFINTHEREI058 Tel: 86-0519-88386618-801. 803, 805 Fax: 86-0519-88386628 =y
http// www. hyflange.fcom E-Mail:hyflange@hyflange. com hyflange@!26. com «~

03






